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I-1. BTRBBeMTHEA MVA KVA, & VA - ®FER MW, kW, & W 2[5 %]

12 AMARRGEREAT  AASHEHLEAATHEIRPHRMRANKRE HE
(Torque) ? [5 %]

1-3. 477 3% E 48 # M (Armature reaction ) ? B 3 % 4o {7 ? [5 %]

1-4. 393 % & % (Transformer) it & 48 % & % (Auto-Transformer) 2 &2 %5 - [5 %]

1-5. {73% Power BJT #) Safe Operating Areas 7[5 %]

1-6. 173§ Zero Voltage Switching ? £ B &) & 17 ? [5 %]

2. E 1 % Cuk Converter » 43 B# TR V, HEA TR Vo 2 ML - [10%]
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B b B A TR ERS - [V, =100425in200t ][10 %]
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4. A 4-pole induction motor draws 25A from a 60Hz, 480V source, three-phase line at power factor
0.85lagging. The stator copper losses is 1000W, and the rotor copper losses 1s 500W. The rotating
losses are friction and windage are 250W, and stator core losses 800W. Calculate: [18 %]

(a) the air gap power, Pg

(b) the developed mechanical power, Pconv

(c) the output horsepower,

(d) the slip,

(e) the operating speed,
- (f) the output torque.
5. %
5.1 What happens in a shunt dc motor if its field circuit opens while it is running? [5 %]
5.2 Would you expect a 400Hz generator to be larger or smaller than a 60Hz generator of the same
power and voltage rating? Why? ﬁ %]
5.3 What is a TCUL transformer? [5 %]
5.4 Explain why the open-- /\(delta) transformer connection is limited to supplying 57.7% of
anomal A--/\ transformer bank’s load. [ 8 %] f
5.5 What is the bundled conductor? What advantages of this conductor? [ 8 %]
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